LABJNDu? triangle lightnesst*
o Yac=Yw  nc=100,

t* LaBINDU7 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
t(3.6)=174 1* ,(18)=396t*(90)=616

log|t*/t* ]=0, m,=0,33
L* =49, t* =39
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tristimulus value difference

Yoc=Yw nc=100,

L aBINDU7=IINI(A 1+ A2)I(A 2nA0n)] (Yao/ 100<Y<=Y,0)
dY=Agn(A1+AY)  Aq=0,017, A,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019
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Yoc=Yw - nc=100,

L aBINDU7=IINI(A 1n+A2)I(A 20A0n)] (Ya/ 100<Y<=Y,0)
YIAY=Y/[A on(A 1n+AY)]
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LABJINDuU? relative triangle lightnesst*/t*,,

Yoc=Yw =100,

t*LaBINDU7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
t*\(3,6)=174 1 ,(18)=396*/(90)=616
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Yne=Yw nc=100,
t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

application’
1 range
1Y,=18
Yw=90

Y236
log [(AY/Y) I (AYIY)] LABJINDuU? relative
tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY
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